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𝐹𝑒ℎ𝑙𝑒𝑟

𝐽𝑎ℎ𝑟
×

𝑃𝑇

𝐹𝑒ℎ𝑙𝑒𝑟



•

•
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𝑭𝒆𝒉𝒍𝒆𝒓

𝑱𝒂𝒉𝒓
×

𝑃𝑇

𝐹𝑒ℎ𝑙𝑒𝑟
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𝐹𝑒ℎ𝑙𝑒𝑟

𝐽𝑎ℎ𝑟
×

𝑷𝑻

𝑭𝒆𝒉𝒍𝒆𝒓



𝑃𝑇

𝐽𝑎ℎ𝑟



𝑃𝑇

𝐽𝑎ℎ𝑟





Komponente A Komponente B







ΔAufwand = %BlowUp × %CloneAffectedEffort









Blow-Up: Ø12%



Blow-Up: Ø12%

(Das ist wenig)



ΔAufwand = %𝟏𝟐 × %CloneAffectedEffort
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▪



ΔAufwand = %12 × %𝟓𝟎



ΔAufwand = %12 × %50 = 𝟔%









Ersparnis Aufwand = 𝟔%



Ersparnis Aufwand = 𝟔%

𝑃𝑇

𝐽𝑎ℎ𝑟



















%Restfehler = %Getestet ∗ Testineffektivität + %Testgap



%Restfehler = %Getestet ∗ Testineffektivität + %Testgap



%Restfehler = %Getestet ∗ Testineffektivität + %Testgap







%Restfehler = %Getestet ∗ Testineffektivität + %Testgap



%Restfehler = %Getestet ∗ Testineffektivität + %Testgap



%Restfehler = 10% +%Testgap



%Restfehler = 10% + 50%



%Restfehler = 60%



%Restfehler = %Getestet ∗ Testineffektivität + %Testgap

%Restfehler = 60%



%Restfehler = 90% ∗ 20% + 10%

%Restfehler = 60%



%Restfehler = 18% + 10%

%Restfehler = 60%



%Restfehler = 28%

%Restfehler = 60%



Reduzierte Feldfehler = 𝟓𝟎%



Reduzierte Feldfehler = 𝟓𝟎%
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